R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.27-36.dwg, FL-15213.35

] o o 1
| R ——

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain

Rustic / Mahogany
Series N Fiberglass Door

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 5th Edition
(2014) Florida Building Code (FBC) structural requirements excluding the
"High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same
as that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

plastpro

ool MG TR S

74.00" MAX. OVERALL FRAME WIDTH

74.00" MAX. OVERALL FRAME WIDTH

98.00" MAX. OVERALL FRAME HEIGHT - INSWING

96.50" MAX. OVERALL FRAME HEIGHT - OUTSWING

TABLE OF CONTENTS
SHEET# | DESCRIPTION
1 Typical elevations, design pressures, & general notes
2 Door panel details
3 Horizontal cross sections
4 Vertical cross sections
5 Buck and frame anchoring - 2X buck masonry construction
) Frame anchoring - 1X buck masonry construction
7 Endura astragal details
8 Bill of materials, glazing detail & components

o O

O O

n
)
0
)
oM
Zz
_—Il\
Lo
i 5
o)
Z 0q
SPT R
Hoo
S>>
D 2 e
N gmn®
5\ ONg
v% [CRR- 4
o ¢ z Q
§ Eo §0¢
a £O g . €
e 8% 5028
o ) I Y.L
< Do
2y
0
¢ c
E 0% §
5 0 .
8 su
o Jo

FBPE C.A. No. 9813

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
TYPICAL ELEVATIONS, DESIGN

PRESSURES & GENERAL NOTES

PRODUCT:

K
BY

|

FULL LITE

3/4 LITE

74.00" FULL LITE | 21.00" x 79.00"

INSWING X
98.00" 3/4 LITE | 21.00" x 63.00"
74.00" FULL LITE | 21.00" x 79.00"

OUTSWING X
96.50" 3/4 LITE | 21.00" x 63.00"

1 |04/22/15 |UPDATE TO 5TH ED. (2014) FBC

REVISIONS

L
'_
<
a
o
-
2

OATE: 02/16/1

SCALE:  N.T.S.

DWG. BY: JK

+37.5 -37.5

+37.5 -37.5
Gl

+37.5 -37.5

+37.5 -37.5

CHK. BY: LFS

DRAWING NO.:
FL-15213.35

SHEET 1 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.27-36.dwg, 2.9

55

INTERIOR

//

R

| —

35.75" MAX.
DOOR
PANEL WIDTH

— |

95.25" MAX. DOOR PANEL HEIGHT

79.00" MAX. D.L.O. HEIGHT

DOOR PANEL
Full lite

EXTERIOR

//
77

®)

m HORIZONTAL CROSS SECTION

\2/

D.L.O. WIDTH

IS5

35.75" MAX.
PANEL WIDTH
21.00" MAX. | ]
D.L.O. WIDTH @
! ./
= 4
5 @ ’
i X
I O
o 2
=z (@]
2 X
e Z
o =2
O o /
a D :
@ SRl V4
< /
=
e 1
x
b

DOOR PANEL
3/4lite

——1.59" ——

2.75"

" . TOP RAIL
21.00" MAX. Cellular PVC

et

1.13"

_{

LATCH & HINGE
Stile support

‘>H<—O.H"

0]

‘ BOTTOM RAIL
Cellular PVC G STILE REINFORCEMENT

EXTERIOR

0.5"GLASS
BITE

/4
o

INTERIOR

G1

GLAZING DETAIL

43 LATCH & HINGE STILE

Cellular PVC

GLAZING COMPOUND

1" MIN.
GLASS THK.

1/8" TEMPERED

1 |, ctass

OPTIONAL

DECORATIVE INSERT

\AIR SPACE

\i 1/8" TEMPERED

GLASS
GLAZING SPACER

#8x1-1/2" PFH
LIP LITE ODL/WESTERN REFLECTIONS HP

n

7
//

-

39
//
/4
INTERIOR EXTERIOR
//
/4
55

m VERTICAL CROSS SECTION
2

10
]
0
)
(Z)N)
RN
L)
N .
Z82
. StPo
o J 000
3>F5°'
D, 2S5
\ omn®z
S O N -
@ -
v D ng-
o Zz (6]
§ Eo 30e,
a69 2560
[ < —00
- 0w 2 LM
T Moo
g
o
¢ c
£ 07 §
5 0 .
g su
o o

PLASTPRO INC
FIBERGLASS DOOR
DOOR PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

JK
BY

REVISIONS

04/22/15 |UPDATE TO 5TH ED. (2014) FBC

1

L
<C
()
3
Z
2

oaTE: 02/16/'1

SCALE:  N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
FL-15213.35

SHEET 2 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.




R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.27-36.dwg, 3.9

1-1/4" MIN.
EMB. (TYP.)

NOTE:

0.15"
—=] |=— C'SINK

IO
4 " (TYP.)

4 . . i
x 5o | ]
s |
B A /\ ]
. . 4 7/1/70111117111111/
B
@ ‘

o (40) INTERIOR
: :\\\\\\'\‘\\-\\\\'\\\‘\\\
g W\(#4%

EXTERIOR

m HORIZONTAL CROSS SECTION
w Outswing shown - inswing

also approved

0

(8)

INTERIOR

1-1/4" MIN.
EMB. (TYP.)

N

EXTERIOR

/~ 4"\ HORIZONTAL CROSS SECTION

w Shown w/1X sub-buck

1. As noted in the test report astragal was attached
to the inactive leaf with (11) #8 x 3" psh sms and
(6) #10 x 2-1/2" pfh sms for all 8'-0" (outswing).
Astragal was attached to the inactive leaf with
(13) #8 x 3" psh sms and (6) #10 x 2-1/2" pfh sms
for all 8-0" (inswing).

INTERIOR

//

AAAL EALLALE A AR S N
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ > \
f '

//

AR

SEE EXTERIOR

NOTE 1

7“2\ HORIZONTAL CROSS SECTION

3 / Outswing shown - inswing

also approved

m HORIZONTAL CROSS SECTION

3/

Outswing shown - inswing
also approved

1-1/4" MIN.
EMB. (TYP.)

FL 33595

BUILDING CONSULTANTS, INC.
P.0. Box 230, Valrico,
Phone No.: 813.659.9197

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE C.A. No. 9813

PLASTPRO INC
FIBERGLASS DOOR

PART OR ASSEMBLY:
HORIZONTAL CROSS SECTIONS

PRODUCT:

K
BY

1 104/22/15 |UPDATE TO 5TH ED. (2014) FBC

REVISIONS

L
<
()
S
Z
2

oATE: 02/16/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15213.35

SHEET 3 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



“ON| SLNVLINSNOgQ aNIiaing

S E-AN =)

€186 ON V'O 3ded SNOISIATY
L616°6S9°'CL8 'ON 8uoyd Ad 31vd [ON]| o 0
S6SEC 14 ‘09LIPA ‘07 *08 O'd \Sv SWOLDSS SB0H0 Wolisa s | 084 (#102) "03 HIG ol 3ivadn]| Si/zz/va ¢ | vi|X|2| 3 |
.o_v_:_:w_.zﬂS:wzoo ONIaINg AN1GWN3ASSY ¥0 Lyvd b e = 2 S
aww\Wiil, J000 SSv19d3813 N Z g v
O\ WNosg, 60¥SH "ON ‘3'd ONI 0¥d1SV1d S lzglzle T N
~ & %, \J\\uxm peJpdeld sjuswnosoq :10Nd0¥yd S|8|3|3 w %
¢ A B2
¥ ¥ P = \m
. eobeyON ¢ =
Z G g S
\\\\\ :Iom /////
TN
("dAL) "aW3 o
NIW .7/ 1-1 ©)
) T
= L 3
4 (=
. QO
Ly
“ { o=
a6
S SE
o (<=
O V2
% s
L =0
Z = Vo
< O o —m £
= O il 2
(§) = > c
Ay =
4 m n < |wr
SR
o=
SIE
-” C
3 &
o >S5
L
<
("dAL) 'aW3
NIW .F/1-1
(‘dAL) "aw3
NIW .7/ 1-1
7. e 4\\/
- (dALl Clae
2 ——INISO e,
#ly = 810 @ Ca |
v V4 o ..A
Vq v o o o
) ; 7711171111171 D =2 O P-4
A & e
- [ )
. 2 Ulo Z 2
Vﬂ‘ . — E .m — E c
. a5 a2
/ = o
1] m _ m =)
IS &2
S£e N Olg
N 358 N S E
|28 O\
>00 - >0
S o ac,
e \T|Y o @ .0 & b
L L
— — ;
e N
("dAL) "awW3
‘NIW .7/ 1-1

67 'BMP'9E-£Z €TZST-Td\uaunD\sBuImelq - D\ETZST-14\s|erouddy 15npoid epLO\LNINYINYI DUl ‘oldiseld\siualid\y



R:Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.27-36.dwg, 5.9

T

il

e T —
it TR l
e I
S~
j TYP. HEAD i
MASONRYJ ||— & JAMBS i -
OPENING ||
||
||
||
—  ASTRAGAL | .
SHOWN FOR
2XBUCK~ REFERENCE — |
ONLY I
_ |l —
||
b |l
L ||
| I |
Q‘ ‘4 | I
BUCK ANCHORING
CONCRETE ANCHOR NOTES:

4" _—_‘ |

24" MAX
ON CENTER

(S 8"

34"

60.13"
|
g

86.75"

|
fd
Ca®y

HINGE JAMB

1. Concrete anchor locations at the corers may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

i

ITwW "
TAPCON

1/4" 1-1/4"

ELCO
ULTRACON

1/4" 1-1/4"

4"

ITW ®
TAPCON

3/16" 1-1/4"

1-1/2"

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

3u

S al e
""- # ‘d
7

¢

—

[ 6"

MASONRY
OPENING

FRAME/ B

2X BUCKX

N

aln

I\ SEE DETAIL

Il2|l

N

TYP. HEAD &
JAMBS ||
|| _
||
ASTRAGAL | : i
SHOWN FOR J/‘ o B
REFERENCE — | 2B ﬂ
ONLY || > —
in g f
I ~35 .
7o)
“ TYP. @ SILL
SEE DETAIL
Il'l n
FRAME ANCHORING ASTRAGAL STRIKE JAMB
Masonry 2X buck construction
AN ° ° o~
DETAIL 2
.E
; s S =, N @ _}t
5N > =
DETAIL 1 DETAIL 1

Inswing configuration

Outswing configuration

O

//

28

O<}f

'/
/4

LATCH & DEADBOLT DETAIL

610\.

| - |

20,
~(D

HINGE DETAIL

)
o
10
.M
oM
z
£ N
-
£g°
<c2P
i_—
ngg
= )
%..'3.
Ow o
6m22
\’ ONE.
] o xzS
o— zo [é)
Eo F0o
. %O _|.gln-|_-'
ey >598m
¢ mooL
IL.
o §
{ o
£z
T .
cu
2 ai
xX=
NO
s
O
o &R
O Ok
OO g %2)
29 28
ol =2
&
oSl Y&
NG P =
w3 <
& o de)
Sw| 9| oo
am|2 <
o N
O
O| xXx
a ~| B9
o el 22
x < mm
o [a
x|>
o

04/22/15 |UPDATE TO 5TH ED. (2014) FBC

1

REVISIONS

L
<
(&)
S
=z
2

DATE: 02/16/'1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15213.35

SHEET 5 ofF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.27-36.dwg, 6.9

e
[%d
&)

34"

60.13"

86.75"

HINGE JAMB

CONCRETE ANCHOR NOTES:

T — = —] f—3"
Cr e e / . "
e T T 1 1
et 1
S || \_ see DETAL .
R noy
\ TYP. HEAD & i
MASONRY 7 B didiiBs || —r
OPENING X
5 | B
|
|| - ASRAGAL .
SHOWN FOR iz
FRAME = ||~ REFERENCE ONLY g %
|
L |
|
1X BUCK\ ||
= H
i SEE DETAIL I Te. @Sl
L .
"7. p | || Y| I
— — FRAME ANCHORING

Masonry 1X buck construction

1. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

ITW n " " n
tapcon® | /4 1-1/4 z 4
ELCO . . . .
uLtRACON®|  1/4 1-1/4 1 .
ITw n ul ul \J
- 1-1
TAPCON® 3/16 1-1/4 3 /

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

-

SMo=n

57

ASTRAGAL STRIKE JAMB

1% %

T T 1T

© ®

HINGE DETAIL

~~

®

LATCH & DEADBOLT DETAIL

DETAIL 2

%

’V
//

= .
%N =

(Y

|
=

o

DETAIL 1

Inswing configuration

DETAIL 1

Outswing configuration

O™

P.O0. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS,
Phone No.:

W

Documents Prepared By:<,

Lyndon F. Schmidt
P.E. No. 43409

R

FBPE C.A. No. 9813

PLASTPRO INC
FIBERGLASS DOOR

PART OR_ASSEMBLY:
FRAME ANCHORING 1X BUCK

PRODUCT:

MASONRY CONSTRUCTION

K
BY

04/22/15 [UPDATE TO 5TH ED. (2014) FBC

1

REVISIONS

L
<
()
S
=
2

OATE: 02/16/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15213.35

SHEET 6 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



"ON| SINVLINSNOD aNIaing *"m's 2102 @

€186 ‘ON V'O 3Idad SNOISIATY

L616°659°CL8 "ON @auoyd A4 31vd [ON|« R
: f e~ SVI3IA WOVHISY VHNAN3 -, - ™M | ©
S6SES H._. OJUIDA ‘O£Z X0g "O'd \Sw . AP 084 (¥102) '3 HIS Ol 31vadn| ci1/zz/¥0| L |N\|n|X e ~ _
*ONI ‘SINVLINSNOD ONIaTINg IA18W3SSY ¥0 1dvd O~ =) 5 &
N SS AR ELE % g v 7_

60¥S¥ ‘ON ‘I'd "ONI 0¥d1SY1d 3 slEle
IPIWYDS 4 uopuki g | ED| B
%, W% :Ag peipde.d sjuewinoog :10NAa0yd _DM m 2|3 W &

WOLLOg

MATL: 9-3/4" Aluminum

MATL: 9-3/4" Aluminum

»\ 1.63" {——

3.00" 4——»
+' 1.63" ’«
@ BOTTOM BOLT RETAINER

m 050 — 7‘

:OW.O —

@ TOP BOLT RETAINER

2437"

33.13"

LATCH THRU HOLE

>/ _ WS9°C J

/
| A
L] O °
ALUMINUM ASTRAGAL

1.75"

By Endura Product

VIEW A-A
Aluminum Astragal Assembly

8'0" ALUMINUM ASTRAGAL ASSEMBLY
By Endura Product

DEAD BOLT THRU HOLE

59.38"

€0 ll_ _.AI

A\N
A\

A\V
A\

36.37"
{

MATL: Steel

19.63"

Q SLIDE BOLT ROD

2437"

|
[l

i
]300
I

dOl

6L 'BMp9g-£Z €TZST-14\uanD\sBumelq - D\ETZST-14\s[er0addy 1npoid epLOII\LNINYINYId 2u] ‘Oidise|d\sIudliD\y



RA\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.27-36.dwg, 8.9

4.56" 4—‘ J

BILL OF MATERIALS
ITEM| DESCRIPTION MATERIAL | ITEM| DESCRIPTION MATERIAL
A | 1XBUCK SG >=0.55 WOOD 21 | POLY FIBER JAMB COMP./ VINYL
B |2XBUCK SG >=0.55 WOOD 22 | #8 X 2" PFH WOOD SCREW STEEL
C | 1/4" MAX. SHIM SPACE - 27 | LATCH STRIKE PLATE STEEL
D | 1/4"X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL 28 | DEADBOLT PLATE STEEL
£ | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE |27 | SIDELITE SPACER PvC
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 30 | WEATHER-STOP 3647 HOLM INDUSTRIES VINYL
F | 1/4"X 2-3/4" PFH ITW CONCRETE SCREW STEEL 31 | OUTSWING BUMP THRESHOLD ALUM. / WOOD
G |[3/16"X 3-1/4" PFH ITW CONCRETE SCREW STEEL 33 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
H | 1/4"x3-1/4" PFH ITW CONCRETE SCREW STEEL 34 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
|| 1/4" X 2-1/4" PFH ITW CONCRETE SCREW STEEL 35 [ SHOE MOULD 5/8" X 3/8" WOOD
J | 174" X 3-3/4" PFH ITW CONCRETE SCREW STEEL 38 | GLAZING SPACER ALUM.
L | #10 X 2-1/2" PFH WOOD SCREW STEEL 39 | LIP LITE ODL/WESTERN REFLECTIONS HP POLYPROPYLENE
M | #9 X 2-1/4" PFH WOOD SCREW STEEL 40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
N | 3/16"X 3-1/2" PFH TW CONCRETE SCREW STEEL 41 | DOOR SKIN (MIN. 0.086" THICK) FIBERGLASS
O | 3/16"X 1-1/2" PFH TW CONCRETE SCREW STEEL 42 | TOP RAIL CELLULAR PVC
1 [#10X2-1/2" PFH SMS STEEL 43 | LATCH & HINGE STILE CELLULAR PVC
2 | #8 X 3"PSH SMS STEEL 44 | LATCH AND HINGE STILE SUPPORT WOOD
3 | FLUSH BOLT STRIKE PLATE STEEL 45 | BOTTOM RAIL CELLULAR PVC
5 |#10X 2" PFH SCREW STEEL 46 | POLYURETHANE FOAM BY NAN YA POLYURETHANE
6 | SEALANT SILICONE 47 | STILE REINFORCEMENT STEEL
7 | Q-LON 650 WEATHER STRIP SCHLEGEL FOAM 48 | REINFORCEMENT RETAINING SCREW NYLON
9 | 4"X 4"BUTT HINGE STEEL 49 | GLAZIING COMPOUND DOW 995 SILICONE
10 | #9 X 3-1/2" PFH WOOD SCREW STEEL 55 | #8x 1-1/2" PFH LITE FRAME SCREW STEEL
11 | #9 X 3/4"PFH WOOD SCREW STEEL 61 | 9-3/4" LENGTH TOP BOLT RETAINER ALUMINUM
17 | KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL 62 | 9-3/4" LENGTH BOTTOM BOLT RETAINER ALUMINUM
18 | KWIKSET DEADBOLT - SIGNATURE SERIES (780) STEEL 65 | ASTRAGAL BY ENDURA PRODUCTS ALUMINUM
20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD 67 | SLIDE BOLT ROD STEEL
] 5 Ul
‘ 456 S . 468" ; ' 5.63
\ X S =]
N N =
= i
? l—— 2.44" | 2.13" 1 —{ N —L

@ HEAD & SIDE
Jamb

31 OUTSWING BUMP THRESHOLD

@ ADJUSTABLE INSWING THRESHOLD

DJUSTABLE INSWING THRESHOLD

Valrico, FL 33595

BUILDING CONSULTANTS, INC.
P.0. Box 230,
Phone No.: 813.659.9197

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE C.A. No. 9813

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
BILL OF MATERIALS, GLAZING

PRODUCT:

DETAILS & COMPONENTS

JK

1 |04/22/15 JUPDATE TO 5TH ED. (2014) FBC

REVISIONS

L
<
()
S
Z
2

oATE: 02/16/'1

SCALE:  N.T.S.

DWG. BY:

JK

CHK. BY: LFS

\J 1.38"

34 YA

DRAWING NO.:
FL-15213.35

sHEET 8 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



